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QUESTION 1

Which VI memory components are ALWAYS S resident for a SubVI? (Choose all apply)
A. Data Space

B. Front Panel

C. Block Diagram

D. Code

Correct Answer: AD

QUESTION 2
Which of the following statements is true?

A. The default setting for a tunnel into or out of a For Loop has auto-indexing enabled if the data being passed is an
array.

B. The default setting for a tunnel into or out of a While Loop has auto-indexing disabled if the data being passed is an
array.

C. Both A. and B. are trued.
D. None of the above

Correct Answer: C

QUESTION 3

In the figure below, the output of Array Size is
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A. a 1-D Array of {2, 3}
B. a 1-D Array of {3,2}
C.2

D. None of the above

Correct Answer: A
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QUESTION 4

What is the result in subarray after the following code has executed?

Array Subset | ubarr

Bal f=

Ho I J+ I Jiols I5 I7 |

A. A 1-D Array of {8, 5, 7}

B. A 1-D Array of {10, 8, 5}
C. A 1-D Array of {10, 8, 5, 7}
D. A 1-D Array of {7, 10, 8, 5}

Correct Answer: C

QUESTION 5

What is the output of the Build Array function in the following block diagram when Concatenate Inputs is selected?

A. 1-D Array of {1, -4, 3, 7, -2, 6}

B. b.1-D Array of {1, 7, -4, -2, 3, 6}

C. c.2-D Array of {{1, -4, 3, 0}, {7, -2, 6}}
D. d.2-D Array of {{1, -4, 3}, {7, -2, 6}}

Correct Answer: A
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